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Chapter 8, Problem 22


H = Voy t – 1/2 g t2
H = 24 (6) – 1/2 (9.8) (6)2  =  - 32.4 m

(U = Uf – Ui = 0 – mgH = -(1) (9.8) (32.4) = - 318 J
Chapter 8—Problem 19


(a) Us = 1/2 k x2 = 1/2 (19.6 x 102) (0.2)2 = 39.2 J

(b) From Mechanical Energy Conservation, 



Ei  
    = 
Ef
  
Kbi + Ubi  +  Usi  =  Kbf + Ubf  +  Usf  

0   +  Ubi    +  Usi  =  0 + Ubf  +  0 

(Ub  =  Ubf -  Ubi  =  Usi  =  39.2 J  (from part (a))
(c ) (Ub = Ubf  -  Ubi = mgh  -  0 = mgh 
Usi  =  39.2 J  

From part (b),  mgh = (Ub = 39.2 J 



h  = 39.2/mg  =  39.2/ (2) (9.8) =  2 m



d  =  h/sin 300  =  2/0.5  = 4 m
m = 1 kg





Vo = 18i + 24j
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